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Warm up

1) If a number has 13 factors, what can you tell me about that number?

2) Show the symbol for each then work it out on a calculator

a) Square 49 b) Square root 81

3) a) find 162 b) V900

4) Show work to Estimate

a) 74 b) V245

5) Find the missing side to one decimal place (Show all work)
10

b)
Y15 B 3

11
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Unit 1 Test Review Worksheet SOLUTIONS

Show your work for the following

1. List the factors Df” Is the number a perfect square? Explai numb s fo

e A S B ]
23’5‘1{ 1*18 21,36, 51 72, 108, 2

- x5 1v! even b of Pactors g;

cpx 3 not 3 perfect SOy

1\,
2. Find thgsguare root of the following using the glven et ud, WM ﬂ IOD
(a) v 1764 — product of perfect squares f‘] &3 ‘?L o ®™

BRG]

NI 3 Q¥
3 x M
'1 l [ I
(b) 4900 — prime factorization (hint: TREE) ‘)‘\}21'4 | ’I’,

4900

~
-~
<\
X

r— - AxA X Sxsx X1
Hao l{ﬁkl P S \‘:?1-
s X1
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3. Find the length of the indicated sidein each triangle (SHOW WORK)
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4

Find the length of the diagonal, d, in this rectangle.

5.
a)

b)

c)

h‘&\xhd /
hue-—

L&

—

—

—

Simplify.

square 49 L(q" = M
b

square root \urf?ﬁ_ =

L
352 = 35
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6 ot fallvin e s s o

{a) v 190 (b) []

/4

q
8 Determine l ether tna_ugl with each set of side lengths is a right triangle.

Justify vour answers. (Show work)

8cm, 9 cm., a_ndllcm

<

“f\a‘

1] o
TETGTre Y
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10. A trucker has two companies to choose to work at.
Companw A follows route 1 and pawvs 513km
Companv B follows route 2 and pays $19/%km

62 km
a) What is the trucker’s pav if he goes with companv A7 " Pa\‘
Gkn 3k gk Py 0

X 15 Al o
¥ 470 N

b) What is the trucker’s pav if he goes with company B?
(Note: this requires 2 steps)

C‘l: G‘l" bi —]\.1 k"\

= ((J-T ¥ (1'“ x’\q

c) Which is the better option? Explain ,b
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4 To geL Crom -+ B, you
Move "‘g‘fb 4 and wpS3.

To (g.gl-, Crom B & F, you
move duwn 3 and left 4, 54 F
1S Yhe same dislone $ru. #
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